Aied 939—9a dc—|

WA fasm=
aiftfe gewfifste wdiar—2014

Time Allowed : 3 Hours Max. Marks -70

GENERAL INSTRUCTIONS :

(i)  All Questions are compulsory.
Tl e ifart 2|
(ii) Marks for each question are indicated against it.
TS U9 & A 3w qwfY Y 7 |
(iii) Questions Number 1 to 8 are MCQ, Carrying 1 marks each
UTT—H@IT 1 ¥ 8 Tb IS U & | AP U & ol 1 3 o |
(iv) Questions 9 to 15 are very short answer questions carrying 1 marks each
oA 9 ¥ 15 T ARTAG—STRIT U & | UAS T & oIy 1 3 7|
(v) Questions 16 to 23 are short answer questions carrying 2 marks each.
oA 16 ¥ 23 AG—SRIT U9 & | D U & foIg 2 i 2 |
(vi) Questions 24 to 31 are also short answer questions carrying 3 marks each.
TeT—RAT 24 ¥ 31 | TR U 2 | TP U & (oY 3 3/ & |
(vii) Questions 32 to 34 are long answer questions carrying 5 marks each.
eI 32 | 34 SH-[TRI U & | TS U @ oIy 5 3 7|
MCQ (Multiple choice Questions) G¥]-Ts8 U
fel v wdl fddey &1 919 W |

1. Whatis the coordination number in a close packed structure. 1
I et § g Ao # g A gt gl g ?
(a) 12 (b) 6 (c) 8 (d) 4

2. What is the order of a reaction if the rate law equation is Rate = K[a]b [B]? 1
IR AT IfAfehar &7 X FR—IM Rate = K[ab [B]? &I AT ST HIfC FIT BFIT 2
(a) p/qg (b) p—q (c) p+q (d) None of these

3.  To which colloidal system does milk belong ? 1
T 5 UBR &1 drags! o g ?

(a) Aerosol (b) Foam (c) emulsion (d) sol (colloidal suspension)

(a) WA (b) B (c) I”—  (d) AT




10.

11.

12.

13.

14,

15.

Which of the following is an optically active compound.

fA=foaRad # @iar gaor epfe gamef 2 2

(a) n-butyl bromide (ﬂdéd §|IH|$G)

(b) sec-butyl bromide (TS FHISS)

(c) iso-butyl bromide (FCTEeT THTES)

(d) tert-butyl bromide (sgcll'.%cd §|IH|$G)

Name of the reaction that is used to convert an amide to a primary amine containg one carbon

atom less than the parent amide.

9 3fAfhar &1 w1 A RTaH Th amide &1 WA U & gRafia 21 <& 81 e
BTG YRHT] BT HEAT amide & UH & B |

(a) Diazotisation (@'I'ﬂ?a'l?'lﬁﬂ?)

(b) Hoffmann Bromanide reaction (8Ttb_ﬁ7f HSS WT)
(c) Sundemeyer’s reaction (@W ST&FW)

(d) Friedel-Crafts reaction (ﬁ?@ﬂ?ﬁ?ﬂ?,’ WT)

Number of naturally occurring aminoacids is

UTGfts U H U S dTel URET STl @l Gt R/ 7 2
(a) 16 (b) 7 (c) 20 (d) 12

Name of the monomer of natural rubber is

UTqR{Id IqS BT Theld &1 19 qar |

(a) Isoprene (@E@ﬁ?) (b) Isobutylene (m@z%%ﬁ)

(c) ethylene (@Fﬁﬂ) (d) propene (EIT@T-T)

Which of the following is not a dye ?

frfoRad § & &4 9® 81 & ?

(a) Indigo (f{f%\c'ﬂﬁ) (b) Phenol (@FﬁF{)

(c) martius yellow (HT%'ZRT ?j?'ﬁ) (d) methyl orange (ﬁ%’&fﬂ C’ﬂﬁﬁ)
How much is the free space in a hcp-Structure ?

TeH fAfds HAqger # e Raa s+ @& g ?

In a chemical reaction A —>B when the concentration of A is increased 2 times rate becomes 4

times. What is the order of the reaction ?

el IR AIffdhar A->B # 9 A @1 FTEdT g1 B ST & AT SifAfshar &1
Fifc T 7 ?
What is the coordination number of Pt in [Pt(NHs),Cl,] ?
[Pt(NHs),Cl,] ¥ Pt BT FH-IIT W& RIT & 7
The activity of the catalyst is lost when certain impurities are present. What are these impurities
called ?
BB YfGAT B BT WR IIRG B AR @ 8 Wl B | 37 rgfeat @ @
PEd © 7
Name the ore from which Al is extracted.
T 3R ¥ Al T IUTGA BT & SHdT M ford |
Name the organic product formed when C,HsOH is heated with Red P and H1.
ST§ C,HsOH BT Red P 3R H1 & AT T fhar SIram € ar 7 9991 © 7
Name the organic product formed when Benzene is heated with C,HsCl in presence of anhydrous

AICls.
STd Benzene &I C,HsCl b I anhydrous AICI&% SURfT H T8 Rd & o |7 g9a1 © 7
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20.

21.

22.

23.

24,

25.

26.

27.

28.

Show that the face diagonal of a cube = \/Ea, where a is edge length of the cube.

yeRd & & cube (GF) &7 face diagonal=\/§a BT © Olel a¥d @ bR &1 dHTE T |

OR

When atoms are present at the corners of all 12 edges of a cube in a unit cell, how many atoms

are present per unit cell and what is the name of the unit cell ?

Tq el ' @ it 12 fFART & Bk IR WA Alg 8 A Thd Bk & M a7

BRI Td 39 fohde g SuRerd © 2

How many KJ of energy are consumed when a current of 1 Amp passes for 100 second under

potential difference of 115v ?

SId 1 Amp DI current 100 second ® 1%'1'(’ 115 v TR 3R WR Yalfed fhar S

fhaeT KI SO T @ud grfT ?

What is Coagulation ?

PlTge! eIl BT Fhad FT T ?

Name the method employed for refining the following metals

fr=IfeRad ergatl @1 refine &1 & forg faferl &1 aM ford |
(a) Copper
(b) Nickel

What are coinage metals ?

BT Grqg b ®ed © ?

What are double salts ? Give two examples.

gfd® <@t fhg ded & ? QI SR < |

Give two differences between an additional polymer and a condemnation polymer.

ANTTHD gD AR FETT gl & &I IR qar |

Define antipyretic. Give one examples.

SIRATRN UgTel &1 gRUTYT ford | S9dT U SSTER ¢ |

What is a salt bridge ? What is its significance ?

SauT UG T © 7 S SUANRTT ford |

OR
State Kohlrausch’s law of independent migration of cons.
RIS & A BT qU AN |
Define Activation energy. How is it related to threshold energy ?

Afsha Soll BT IRHINT B | S8l Holl A SHBT a7 HdeT © 7
OR
Derive the integrated rate expression for a 1* order reaction.

UH dife & IIfAfhar & o gHdIferd FHHROT BT qui B |

What are interhalogen compounds ? Give two examples.
SeXgalo JIfTd R & ? ]T IIER |

What is the equivalent weight of KMnQ, in

f=faRad medium o KMnO, T Equivalent weight et |

(a) Acidic medium (b) neutral medium O (c) alkaline medium
(mol wt (STTW\’) of KMnOQ, = 158 g/mde)

How would you convert 2 — chlorobutane to

2 — chlorobutane &I fA=ferRaa # o9 uRafda ¥ |

(a) N-butane
(b) 2 —butanal

(c) 3,4 —Dimethychexane.




29.

30.

31.

32.

33.

34.

Discuss Lucas test for distinguishing between 1°, 2° and 3° Alcohol.

Lucas test ® ERT 1°,2° 3R 3° Alcohol & §1F W IFdX UdT oA ?

How will you distinguish between primary, secondary and tertiary amines with nitrous acid.
gAY, Wdhwel 3R SRR UFF @ 419 HNO, & ERT & AR UdT e RIT ?

List three characteristics of enzymes.

TSTsH @ o faRvarnsii &1 gof| o |

Why should a solution of a nonvolatile solute boil at a higher temperature than the solvent. Draw
diagram to prove your point.

fpdl srareiiel faela & faaaa &1 FaeAe fig fAogs & Faeries fdg ¥ «ifte @
BI © ? = & gRT YA Y |

OR
Define osmosis. Calculate osmotic pressure of a 0.1M glucose solution at 27°c.
TRTERYT BT GRATYT foRe | 0.1M glucose AT BT URTARYT T@ 27°¢ WX fHhTed |
Which of the halogens (except At)
Forms the weakest acid (bI-1 AT Bellol- A C&Gicd S ESECEINT %)
(a) Has the largest atomic radius (fb\lcﬂ AT Ao BT '\’dllr'\-lfb ST I SATST %)
(b) Has the minimum ionization energy (19 T BlloT- BT AT ol a9 31f® %\’)
(c) Is the strongest reducing agent (b1 REISERSERRICSHISIRE CEARed %\')
(d) Has the maximum electron affinity (ch 3 g BT ENEFIE] TfthfaeY T 3fereh %\')
OR

Complete the following reactions
PrriferRae sl &1 G B |
(a) XeF,+ PF, —
(b) XeF,+H,0—
(c) BrO, +F,+20H ™ —
(d) HNO,+ PO, —
(e) 2NH,+ NaOCl —

Write short notes on : (give equation only)
frrferRag w fewfl o (®aar THiexor <)

(a) Perkin’s Reactions
(b) Aldol condensation

OR
(a) Hell—volhard — Zelensky reaction
(b) Decarboxylation.



